TT Radius Replacement Manual

E. F. Bavis & Associates, Inc.

201 Grandin Road
Maineville, Ohio 45039
(513) 677-0500

Copyright 2009 E. F. Bavis & Associates, Inc. Revised 07/29/09
All Rights Reserved P/N 00726011






Table of Contents

Bill of Materials oo
Replacement Procedure
Tape Preparation
Track Preparation

CC Carrier Mounting
Diagram

TT Carrier Mounting
Diagram

Shift Point Adjustment
Diagram






Bill of Materials

Part Number Description Quantity
01081021 1/8 Conical Bit 1
04016333 Hard coated TT Radius 2
04058112 TT Splice Plate 4
04224011 Bag of Splice Plate Screws 1
06820191 CC Tape Cut to Length 1
06972071 Buttsplice Red Connectors 20
55555237 9/64 screw machine drill bit 1
22016011 Roll of Electrical Tape 1
93152724 8-32 x 15/16 Screw With Locking Patch 2
93202723 8-32 x 1-1/4 Screw With Locking Patch 2
93042723 8-32 x 1/4 truss head screw 2
93082723 8-32 x 1/2 Truss Head Screw 2

00726011 TT/CC Radius Replacement Manual 1



10.

11.

12.

13.

14.

15.

16.

Replacement Procedure

Remove the flat head screws that hold the speaker panel to the customer vertical tube.
The panel can hang by the speaker lead.

Go inside and send the carrier to the car position outside.
SKIP STEPS 3 & 4 IF THIS IS A BANKING LANE

Open the right door of the inside vertical wall standoff. The door is hinged; removing the
two screws on the door near the tube will allow the door to open.

Push & hold the brake release button on the brake board.

On the front of the tube, insert a screwdriver into a slot of the drive tape.

Push up on the screwdriver pushing the tape up. Observe the carrier outside as it lowers.
Do not let the carrier hit the island. Do this until the drive tape disengages the drive
sprocket.

Go outside and pull the carrier and drive tape completely out of the unit.

Shut off the main power at the building breaker.

Start with the inside or outside radius. Remove the splice plate screws that hold the radius
to the vertical and horizontal tubes.

Remove the old radius. You may have to remove some braces that hold the horizontal in
place or the airlock to give you enough room to remove the radius.

Disconnect the horizontal cable if there is a connection at or near the area that you are
removing the radius. If there is not a connection, cut the cable where you have room and
splice the wires back together again when you are installing the new radius.

Check the ends of your horizontal and vertical tube for burrs. Remove the burrs if needed
with the conical bit provided.

Clean all tape slots in all of the tube sections to remove all metal dust and debris to
prevent premature wear of new parts.

Feed the horizontal cable that you separated through the new radius.

Connect the horizontal cable together by either connecting the connectors together or
splicing the wires together using the red buttsplices provided. Wrap the connection with
electrical tape.

Using the splice plates and screws provided, assemble the new radius to the horizontal
and vertical tube, (Please see the diagram on page 4). Make sure that the joints are
smooth were the tape runs through.



17. Repeat steps 9 through 15 for the other radius.
18. Remove the screws that attach the carrier to the drive tape.

19. Use the old drive tape to measure and cut the new drive tape provided. Bevel the ends of
the new drive tape with a file, (Please see the diagram below on how to do this).

20. Mount the carrier to the new drive tape with the hardware provided, (Please see pages 5
and 6 on how to do this).

21. Feed the drive tape back into the unit until you feel the drive tape stop.
22. Go inside and turn the power back on at the building breaker.
23. Press the inside control power button on.

24. Insert a screwdriver into a slot in the drive tape.

SKIP STEP 25 IF THIS IS A BANKING LANE
25. Press and hold the brake release button on the brake board.

26. Pull down on the screwdriver feeding the tape around the drive sprocket. Continue to do
this until the carrier is resting on the stabilizers outside. Be careful that the carrier is not
caught on the speaker lead.

27. Recall the carrier.

28. Run the unit and observe for proper operation. Note: If the carrier started out above the
stop switches, it will not shift into high speed. Simply run the carrier again and it should
shift into high.

29. Check the shift point adjustments, (Please see the diagram on page 7). Adjust the shift
points if needed.

30. Close the doors on the inside vertical standoff and replace the speaker panel on the
customer vertical.

TAPE PREPARATION

TRIM AND THEN REMOVE
BURR FROM CUT EDGES /

/
/

>OODOOOOODDDDOO??@DDDDOOOOODDDE

TAPE-CLEANING END TAPE-FINISH END
USE ONLY FOR CLEANING BEFORE THE NEW TAPE (BOTH ENDS OF TAPE)
IS INSTALLED, THEN RESHAPE TO FINISH END.




TRACK PREPARATION




CC Carrier Mounting Diagram

YO/v 4314V
171INg S1INN

adv3H SsNdl
WOT/ST X ¢E-8#

adv3H SsNdl
WWIT-T X CE-8#

JIOHT
Y0019 3dvl

/|

N

S3T0H §¢

M3INNOLLO4

.

@il

!

S3TOH &

;

¥0/y 3404349
. 171Ng SL1INN

av3aH SSNYL .W/T X ¢E-8# \

AVv3H SSNYL .2/T X ¢E-8# /

—
/ JTOHT
N0071d AdvLl

@y |

0
f

FI1OHT

o

poooooooo0o0000O0O0G0OOO0GLG0OOADN

S310H S¢

M3IINNOL10d

000 @@@/

{

S3TOH S




TT Carrier Mounting Diagram

;

BOTTOM VIEW

19 HOLES

1 HOLE

/

@@DDQDDDDDQDDDDD@QQ@@&@@DQDQ

'
0

2@@@@@@@

TAPE BLOCK

\ #8-32 X 1/2" TRUSS HEAD




Shift Point Adjustment Diagram

.

"SNIQVY HO YOOIV IHL LI ON 1NG NOLLO3S TWLNOZRIOH
JHL NI ATNO G33dS HOIH NI S| 8314370 3HL LVHL OS ANVSSIOIN SV LSNrav3d HOOTHIV IHL SHILNI LI 330438 MOTS
OLNI YOS SLAIHS ¥3IMYYD 3HL LyHL 3AYISTO "SNIaYA ¥3WOLSND FHL 40 LNO SANOD LI ¥3LAY A33dS HOIH OLNI SLAIHS LI
*3QISNI 3HL OL 3AISLNO JHL WOX ONITIAVHL S| ¥IRANYD FHL NIHW LYHL OS LOd TI¥O3d 3HL LSNIAY "SNIAvY ¥IWOLSND
3HL SHILN3 LI 350439 MO OLNI ¥OVE SLIHS ¥3INHYO THL LYHL OS LOd HOIH LSNraY MO0 TMIY 3HL 40 LNO SIWOD LI ¥3LIY
@33dS HOIH OLNI SL4IHS LI ‘SAISLNO JHL OL 3AISNI FHL INO¥S ONIM3AYAL S| ¥IR4YYD FHL NIHA LYHL OS 10d AN3S FHL LSNrav
*3A0W 9O NI d33dS MOTNNY ATNO TTM VD
SNOILONYLSEO HIHLO HO HOVHL NO ONIONYH SI 3d¥L HO ¥¥D 1 335 OL LNO ANV NI ¥¥D NN ‘3dVL Y01 OL 9Or 3HL 38N j
_
1Ivo3y || [
AL NN (
Y101 3A0EY 23S \: . [
0} L3S XV '03S Sk U _
¥IWIL 900 HOLYM __ _.
NN |
O HLOEROPOMN/G wo - e
TOHLNOD IHvHE 22 . ._(B 0 14 rl
02 14y ovavd Y —L
NNY 3SYIHOIA OL MOD ANY I \
NNY 3SVIHONI OL MO NHNL Q @ @ / @ w w M m 1
6X ﬁuu .
anas TIvo3d HOIH _u o6L-ATY O
szm ﬂl. .“x v.v
— $10d L4IHS
Z_ Ws...“ SLS-MNAY
1ol |5 z 1
NP 440 0L 135 STHOLMS | B[
! = HLOS ONILLIS TWINMON | ||| 1
= — - \.\
ONILLAS HOLIMS dig
“Q3LVALLOY3A SI g L¥HL ONILYOIANINO Iwoo |/ © o
| TIM TOHLNOD ivHd NO 031 SNIHOVWONIDSOr 39043 /L]
\ Q3SS38d3A SINOLLNG 3SYI13Y Ixvag LyHL 3¥NSNI

I
r, ATNO Y3dY SIHL NI 333dS HOIH i

"~ HOIH OLMOT LNIOd L4IHS TTv03d HOIH OL MO LNIOd L4IHS AN3S —

13s3yoL
_ NO>ovd
® 440 NNL

anN3s







	TT Radius Replacement Manual


[image: image4.jpg]-

/
J

— (—q

1voad

NN¥ 3SV3J03A OL MOD ANV
NN 3SYIFONI OL MO Nanl

aN3s

NI
1Nno

FNLL NN
V1Ol IN08VY O3S
0l L3S XVIN "O3S S
AL OO0 HOLVYM

'SNIAVY ¥O MOO0THIV IHL 11 ON LNg9 NOILO3S TV.INOZIHOH
FHL NI ATINO A33dS HOIH NI S1 ¥31b43v0 3HL LvHL OS AYVSSIOAN SV LSNradvad MOOTIV JHL SY3LNT L1 F¥0439 MOTS
OLNIXOVE SL4IHS J31-dvD FHL LVHL IAJ3SHO "sSNIava »3NOLSND FHL 40 LNO SINOD L1 d314V d33dS HOIH OLNI SLIHS LI
‘3AISNI IHL OL 3AISLNO FHL NOXL ONITIAVHL SI ¥IHHYVO IHL NIHA LVHL OS LOd TTvO3H IHL LSNray "SNIdvy ¥3INOLSNO

FHL SH3ILN3 11 30439 MOT OLNIMOVE S1JIHS ¥3RIHVYO FHL LYHL OS LOd HOIH 1LSNrav MO0 IV IHL 4O LNO SANOD L1 d3Ldv
Q33dS HOIH OLNI SL4IHS 11 ‘'3AISLNO JHL OL 3AISNI IHL WOHH ONITIAVIL SI d31HYVO IHL NIHA LVHL OS LOd AN3S FHL LsSnrav

O

NN

OO

O

440 OL 138 S3HOLIMS
HL1Od ONILL3S TVINION

aN3s 1Tvo3d

S10Od LdIHS

¢l

NO

HOH

ONILLIS HOLIWMS dId

"A3aLVAILOVIEQ S| 3Mvad LvHL ONILYOIANI NO JINOD

"3A0W ©0r NI d33ds MOT NN ATNO TTIM dv0
SNOILONYLSEO HIHLO O MOVHL NO ONIONVH SI 3dVL ¥O ¥vO 41 33S OL LNO ANV NI ¥vO NNY ‘3dv.L AvO10L 90r 3HL 3sn

T TOHLNOD IXvg NO d37 "ANIHOVIA ONIDOOr 340439 v
d3sS3dd3A SINOLLNG 3SVATIY aXvag LvHL JANSNI

O L1L0E80YO/N/d
JOYLNOD IMvdd 00
‘00 14vdovavd

aq|

8x{ -

50 va ea zd 1d

10

6x{+

[

7 GLS-UNLX 7

DIVYE ISYIFY

Ol HgNd

ﬁ

NO % 440 H3MOd

A

13s3y 0L
NO XOove

RERVETe:IPg
E

" 8 440 NUNL

T

aN3s

DN

HOIH OL MO LNIOd LdIHS T1v03d

ATNO V3V SIHL NI d33dS HOIH

r

HOIH OL MOT LNIOd L4IHS AN3S

L <







TT Radius Replacement Manual

[image: image5.jpg]TRACK PREPARATION

=
b2

# 125 DRENEL







E. F. Bavis & Associates, Inc.


201 Grandin Road


Maineville, Ohio 45039


(513) 677-0500


Copyright 2009 E. F. Bavis & Associates, Inc.
Revised 07/29/09

                All Rights Reserved                                                                                                                                         P/N 00726011

Table of Contents


		Bill of Materials

		………………………………………………………….

		Page 1



		

		

		



		Replacement Procedure

		………………………………………………………….

		Page 2



		

		

		



		Tape Preparation

		………………………………………………………….

		Page 3



		

		

		



		Track Preparation

		………………………………………………………….

		Page 4



		

		

		



		CC Carrier Mounting Diagram

		………………………..………………………………..

		Page 5



		

		

		



		TT Carrier Mounting    Diagram

		………………………………………………………...

		Page 6



		

		

		



		Shift Point Adjustment Diagram

		………………………………………………………….

		Page 7



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		



		

		

		





Bill of Materials

		Part Number 

		Description

		Quantity



		

		

		



		01081021

		1/8 Conical Bit

		1



		

		

		



		04016333

		Hard coated TT Radius

		2



		

		

		



		04058112

		TT Splice Plate

		4



		

		

		



		04224011

		Bag of Splice Plate Screws

		1



		

		

		



		06820191

		CC Tape Cut to Length

		1



		

		

		



		06972071

		Buttsplice Red Connectors

		20



		

		

		



		55555237

		9/64 screw machine drill bit

		1



		

		

		



		22016011

		Roll of Electrical Tape

		1



		

		

		



		93152724

		8-32 x 15/16 Screw With Locking Patch

		2



		

		

		



		93202723

		8-32 x 1-1/4 Screw With Locking Patch

		2



		

		

		



		93042723

		8-32 x 1/4 truss head screw

		2



		

		

		



		93082723

		8-32 x 1/2 Truss Head Screw

		2



		

		

		



		00726011

		TT/CC Radius Replacement Manual

		1





Replacement Procedure


1. Remove the flat head screws that hold the speaker panel to the customer vertical tube. The panel can hang by the speaker lead.


2. Go inside and send the carrier to the car position outside. 

SKIP STEPS 3 & 4 IF THIS IS A BANKING LANE


3. Open the right door of the inside vertical wall standoff. The door is hinged; removing the two screws on the door near the tube will allow the door to open.


4. Push & hold the brake release button on the brake board.

5. On the front of the tube, insert a screwdriver into a slot of the drive tape.

6. Push up on the screwdriver pushing the tape up. Observe the carrier outside as it lowers. Do not let the carrier hit the island. Do this until the drive tape disengages the drive sprocket. 


7. Go outside and pull the carrier and drive tape completely out of the unit.


8. Shut off the main power at the building breaker.


9. Start with the inside or outside radius. Remove the splice plate screws that hold the radius to the vertical and horizontal tubes. 


10. Remove the old radius. You may have to remove some braces that hold the horizontal in place or the airlock to give you enough room to remove the radius. 

11. Disconnect the horizontal cable if there is a connection at or near the area that you are removing the radius. If there is not a connection, cut the cable where you have room and splice the wires back together again when you are installing the new radius. 

12. Check the ends of your horizontal and vertical tube for burrs. Remove the burrs if needed with the conical bit provided. 


13. Clean all tape slots in all of the tube sections to remove all metal dust and debris to prevent premature wear of new parts. 


14.  Feed the horizontal cable that you separated through the new radius.


15. Connect the horizontal cable together by either connecting the connectors together or splicing the wires together using the red buttsplices provided. Wrap the connection with electrical tape.


16. Using the splice plates and screws provided, assemble the new radius to the horizontal and vertical tube, (Please see the diagram on page 4). Make sure that the joints are smooth were the tape runs through.


17.  Repeat steps 9 through 15 for the other radius.

18.  Remove the screws that attach the carrier to the drive tape.

19.  Use the old drive tape to measure and cut the new drive tape provided. Bevel the ends of the new drive tape with a file, (Please see the diagram below on how to do this).

20. Mount the carrier to the new drive tape with the hardware provided, (Please see pages 5 and 6 on how to do this).

21. Feed the drive tape back into the unit until you feel the drive tape stop.


22. Go inside and turn the power back on at the building breaker.


23. Press the inside control power button on.


24. Insert a screwdriver into a slot in the drive tape.


SKIP STEP 25 IF THIS IS A BANKING LANE


25. Press and hold the brake release button on the brake board.

26. Pull down on the screwdriver feeding the tape around the drive sprocket. Continue to do this until the carrier is resting on the stabilizers outside. Be careful that the carrier is not caught on the speaker lead.


27.  Recall the carrier.


28. Run the unit and observe for proper operation. Note: If the carrier started out above the stop switches, it will not shift into high speed. Simply run the carrier again and it should shift into high.


29. Check the shift point adjustments, (Please see the diagram on page 7). Adjust the shift points if needed.

30. Close the doors on the inside vertical standoff and replace the speaker panel on the customer vertical. 




[image: image1.wmf]TRIM AND THEN REMOVE


BURR FROM CUT EDGES


TAPE PREPARATION


TAPE-FINISH END


(BOTH ENDS OF TAPE)


TAPE-CLEANING END


USE ONLY FOR CLEANING BEFORE THE NEW TAPE


IS INSTALLED, THEN RESHAPE TO FINISH END.






CC Carrier Mounting Diagram



[image: image2.wmf]1 HOLE


#8-32 X 15/16"


TRUSS HEAD


BOTTOM VIEW


25 HOLES


5 HOLES


#8-32 X 1-1/4"


TRUSS HEAD


1 HOLE


TAPE BLOCK


#8-32 X 1/4" TRUSS HEAD


#8-32 X 1/2" TRUSS HEAD


1 HOLE


BOTTOM VIEW


25 HOLES


5 HOLES


1 HOLE


TAPE BLOCK


UNITS BUILT


BEFORE 4/04


UNITS BUILT


AFTER 4/04





TT Carrier Mounting Diagram



[image: image3.wmf]TAPE BLOCK


#8-32 X 1/2" TRUSS HEAD


BOTTOM VIEW


1 HOLE


19 HOLES


5 HOLES


1 HOLE




Shift Point Adjustment Diagram



PAGE  

6



_1283945793.dwg



_1366196011.dwg



_1278335607.dwg



